Llean 1 3a1a4M ypoOKa

* 0000LIUTh U CHCTEMATU3UPOBATh
3HAHUS 110 TEME;

* JIMKBUJIAPOBATH NPOOEIIbl B 3HAHUAX

* BBIPA0OTaTh YMEHHUS U HABBIKHU 10
PEIICHUIO KBaAPATHBIX YPABHEHUM
Pa3INYHOIO BUJIa pa3HBIMHU CIIOCO0AMU;

* BBIPA0OTATh YMEHUE BHIOPATh HYKHBIN
palMoOHaJIbHBIN CIIOCOO pEIICHUS;




A, 2x>—10x=0
3xt+=12=10
5x°+2x—-4=0
x*—0,5=0

B. x*+5x-6=0
2x%-3x—4=0
x?—2x+1=0
x?-3x—4=0




x?—4=0
(x—4)"=0
x*—3=0

x*+9 =0







(x—3)x+2)=0
xX(x+0,5)=0
3x* =0




1.

A. 3x® —5x + 2 =0
B.9x+3x?-10=0
C.Ox2—15x+1=0

D.5x2+§+1=0




2

a=-2: b=3,5;: c=0,75




3

-5X%+3x-2=0




4X - 3X%+ 10 =



3x>=0;
X2+4X=192;
7X%%-3=0:;
5y*=10y;
X%=6



- 5X%+3x=0







- (y-6)=0




1

A. 3x°—5x+2 =0
B.9x+3x*—10=0
C.Ox*—15x+1=0

D.5x2+§+1=0




2

a=-2: b=35;: ¢=0,75

-2x2+3,5x+0,75=0



3

-5X%+3x-2=0

a=-5b=3,c=-2




A

-4X - 3x%+ 10 =
7
-3x*-4x + 3 =0




3x3=0:
X?+4X=192:
7x%-3=0;
5y%=10y;
X%=6




- 5X%+3x=0




7/

— X2%-5=0

HeT pewieHnm




(y-6)=

y

6

0




